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130100(/=W 2 A biToesY 9,440
130100(7ZWZ A 1= 5 0 0 1
130100(/=W 2 A ey = 6,200 0 5,400 10 1,080 432
130100(7ZWZ A RI%G 1,375 0 675 10 1,080
13034003 ICA LA biToesY 1,320
130340[;¥ICA LA R 860 0 860 10 1,350 648
130400[Z1E 5 biToesY 520
130400| 1% S 55 520 0 520 10 3,240 1,566
130600({ A Z A biToesY 3,467
130600(A Z A = 675 0 665 5 4,104 1,620
13110018 3% biToesY 16,779
131100183 I 7,585 0 7,435 15 1,404 540
131100|83% 40 1,260 0 0 15
131100| 83 K& 599 0 599 15 756 540
131100|83% R 7,335 0 2,640 15 1,296 540
131700(F v XY be 27,605
131700(F v XV ZH 14,340 0 7,330 10 1,188 702
131700(F v XY k& 11,500 0 8,500 10 972 680
131700(F v XV ML 1,000 1,000 10 972
1318001 > A E be 2,533
131800{IF > NAE BE 496 334 158 0.2 81
1318001 > A E = 600 0 600 4 1,620 1,080
131800{IF > NAE 12 1,260 0 1,260 0.18 97 86
131910|Fh & be 1,382




131910(Fh & PN 7 0 7| 0.045 63 62
131910(F R & FE 48 0 45| 0.5 302 265
131910(Fh & [ 305 0 305 1 486 378
131910(F R & &) 488 0 488| 10 3,024 2,268
131910(Fh & iR 385 0 375 10 3,024 2,160
131950|H A & HE 2,778

131950(H & =33 375 0 220 5 1,944 1,080
131950(A R & BER 1,280 0 1,029 3 1,620 648
131950|B A& B2 243 0 243 3 1,188 756
133400(L % % e 10,692

133400(L % 2 I, 40 0 40 4 1,620 1,404
133400(L % % & 5,240 0 4,200[ 10 2,160 1,512
133400(L % 2 ES 2,420 0 2,020 10 2,268 1,296
133400(L % % F=1iA 488 0 360 4 1,566 972
133400(L % 2 KRG 2,280 0 2,100 10 1,458 702
134100|#A/1 e 10,015

134100 |88/ S 2,480 0 2,480 5 2,160 1,512
134100 (&A1 Syl 550 0 420 5 2,592 1,944
134100 |#8/1 =l 5,560 0 5,010 5 2,484 1,620
134100|#A/1 ) 1,425 0 1,425 5 1,847 1,523
134200|m M et 1,110

134200(F /1 A¥ 0 1,110 0 1,110 10 2,052 1,674
134300 (%6 7 et 4,794

134300|50F hy= 528 528 2 1,080 648
134300 (%6 7 =% 3,857 2,665 0.3 130 124
134400| k= k e 2,043

134400| k< k REAR 1,993 0 1,993 4 1,512 756
134500| &’ —~< >~ e 3,481

134500| " — < > [SE il 711 711| 0.15 119 108
134500(—~< > = I 2,770 2,770 0.13 136 97




135100 WA F A ¥ 136

135100| W A LT A = A 40 40 2 3,780 3,024
135200|%= ¥ 114

135200|%= ANER L 40 40 2 2,484 1,080
136100[HA L & ¥ 31,700

136100(AA L & I 16,770 16,770 5 3,240 540
1361001 A L & & 5,955 5,780 5 1,944 432
136100(AA L & PN 8,660 8,660 5 1,728 648
136200|%inE ¥ 430

136200(F % R 430 430 10 2,182

136210| X —27 4 >~ ¥ 13,630

136210( X —7 1 ~ time 13,630 13,630 10 1,728 356
136300| 2% ¥ 1,500

136300(E3 i 1,200 1,200 10 4,644 1,620
136600|7- & ¥ 20,600

136600|7z & time 13,280 13,280 20 2,484
136600|7- A & BE 1,880 1,880 10 2,700 864
138100({& L W /o lF ¥ 1,453

138100|& L W7zl fig 1Ly 174 174] 0.08 81

138100(& L W /o ld BE 1,277 1,265 0.2 259 97
138500| L& LE ¥ 937

138500(L® LE g 910 835 0.2 83 78
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a—k AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 E@EM AN A |FER 6,436
240700|Z@EIMNA N A | FFRWL 4,814 0 4,814 10 4,104 540
240700| @RI AN A | S 1,622 0 1,622 10 3,780 1,296
241200|% — 7 LA L > %k 1,714
241200( % —7F L v EE 1,000 0 1,000 10 3,024 2,376
241300|FF#H o5 2,090
241300|FF#H FiE 2,090 0 2,090 10 3,780 972
241320(/\#A HoEK 2,060
241320(/\#A N 2,060 0 2,060 10 2,160
241390[IFA DA boese 2,590
241390[IFA DA FiE 2,300 0 1,770 10 2,700 1,080
241470 = A DA B 323
24147012 A DA =y 275 0 161 3 2,700 2,376
242320y aF 33— boese 300
242320 a+a—u B 300 0 0 3
242830|.5 LW AT bioese 8,948
242830(3 LW AT B 8,948 0 3,802 10 4,320 2,376
242850| MY AT bioese 300
242850(FEMY A Z B 300 0 0 3
246000|L B & boese 7,087
246000({\ 5B & BE 171 113 58| 0.25 454 302 486
246000|L B & H 243 0 213 0.3 540 432
246000({\ 5B & & 1,469 0 1,092 0.27 562 270
246000|L B & RIF 1,609 0 1,512 0.25 454 270




246000 REAR 2,400 0 1,867 0.25 464 270
246000 =I5 424 0 3701 0.25 432 292
247100| 7 —L 2 X Oy [

247100| 7 — /LR A A YV 153 153 9 21,600 10,800




